HiEE—% MREER(ROFE EVV:POANRRITZHREL., KE:QOANRITHELY)

i - ; IRFEFE (SA) 1R R (& 5EZFESA) .
s mRs BRS | 4uq, = - LA
#No | QNo £ ¥R P Q % AEE FEiy 5EE

(IS) (1S0) 4 RAIAT7E i ne. FHE ROTE & ne. EHE
[=] Q (P-Q) P *:p<0.05 P Q (P-Q) p *:p<0.05
**x:P<0.01 *%:P<0.01
ERWB |02 [BQ.01 |f&kE ﬂ | . | 1384 74.9 25.1 498 0.000 *k 4.15 2.84 1.31 0.000 Hok 1
[ ] [ ] [ ] [ ]
EARWB |1.04 |AQO2 |BF%k * w *ﬂ\ 1384 92.9 7.1 85.8 0.000 *ok 413 3.65 0.48 0.000 *ok 2
L] [ ]
EAWB |B.01 |CQ_12 |B#& w ﬂ 1384 90.0 10.0 80.0 0.000 *x 4,05 3.63 0.42 0.000 % 3
[ ) [ ]
ERWB |0.02 |AQ_13 |&iE ? 1384 62.9 37.1 25.8 0.000 ok 3.54 3.64 -0.10 0.000 *k 4
[ ]
ERWB |B.03 (BQ_13 |EEDHEHAER DR (L\ (‘:\ 1384 | 673 32.7 34.6 0.000 o 4.04 3.90 0.14 | 0.000 ok 5
® o
ERWB |/£.05 (BQ.02 |xO—7 ( ﬁ(‘i\ 1384 69.6 30.4 39.2 0.000 *ok 414 3.86 0.28 0.000 *ok 6
_...-‘ LEo
r~a H
EAWB |B.04 |CQ_13 |BrEK ‘j ﬁ'—l 1384 81.6 18.4 63.2 0.000 K 3.77 3.34 0.43 0.000 *% 7
EMRWB |0_36 |BQ_24 |&k&DAELY @ 1384 70.2 29.8 40.4 0.000 *x 3.25 3.23 0.02 0.371 n.s 8
EMAWB |R.05 [AQ_14 |BRIERT ka\-' dﬁ/ 1384 76.2 238 52.4 0.000 *ok 3.95 3.43 0.52 0.000 Kk 9
— *
EMRWB |0_34 |CQ_23 |&4& @ 1384 92.1 7.9 84.2 0.000 *ok 3.99 3.39 0.60 0.000 *ok 10
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RigE—% HEERRO7E EVV:POALRRITHEL., KE:QOANRRITHRELY)

i - ) IR RE (SA) 1R R (& 5EZFESA) .
i RS BRS | 4uq, i - LA
#No [ QNo 2 P Q % = FEE = AEE

Is) (1S0) 4 A7 ol ne.:FHE A7 ofiE ns. AT
[=] Q (P-Q) *:p<0.05 P Q (P-Q) *:p<0.05
**x:P<0.01 *%:P<0.01
™A A
EAWB |B.06 |BQ_14 |Fzvi(> /24t 4 —R— 1384 724 27.6 44.8 0.000 *x 3.67 3.55 0.12 0.000 *% 11
_ ? ¥
ERWB /.06 |CQ.02 [ ERAT --‘3 1384 69.8 30.2 39.6 0.000 *k 3.53 257 0.96 0.000 Hok 12
& [ ]
ERWB |R.07 |CQ_14 [/RTIL./TE AR ﬁ Ié 1384 68.8 31.2 37.6 0.000 *k 3.17 3.17 0.00 0.893 ns 13
Ea »
EAWB |1.07 |AQ03 [E-R3YIE  EERRT {' 1384 | 56.7 433 134 0.000 *ox 3.28 2.94 0.34 | 0.000 ok 14
ERWB [A_10 |CQ_15 |$R1T-TOE @ 1384 89.4 10.6 78.8 0.000 ok 3.12 2.31 0.81 0.000 Hok 15
Q 0?
\ &
ERWB |1.28 [AQ_10 [JEEESE \ 1384 94.0 6.0 88.0 0.000 *k 412 3.83 0.29 0.000 Hok 16
|
EAWB |B_11 |AQ_16 |EEE 1384 29.7 70.3 -40.6 0.000 *x 3.72 418 -0.46 0.000 *% 17
|
Emwe (012 |Ba.16 [h—k 7] |-|| 1384 | 786 = 214 | 572 | 0000 - 392 368 | 024 | 0000 - 18
) [} ] ]
JA t
ERWB (110 |AQ04 |TLR—4— Iﬂl 'N 1384 94.4 5.6 88.8 0.000 ok 3.85 2.71 1.14 0.000 *ok 19
¥
[ ] .=
ERWB |1 11 [Ba.04 [THL—4— y y 1384 | 746 254 | 492 | 0000 ok 395 300 | 095 | 0000 ok 20
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RigE—% AERER(RO7E EVV:POARRI7ZHREL., KE:QOABRRIF7ZHAELY)
i - } IR RE (SA) 1R R (& 5EZFESA) .
s BRES BRS | 4uq, i a LA
ENo | GNo B P Q 7 % za7e HEZ F15 2a7E HEE
(JIS) (ISO) pﬁg n.s::aFE.ﬁ pﬁg n.s..:aiﬁ,a
[=] Q (P-Q) *:p<0.05 P Q (P-Q) *:p<0.05
**x:P<0.01 *%:P<0.01
- .. -
()
EMRWB [1.12 |CQ.04 | EYTRHAL—%— - 2 1384 92.1 7.9 84.2 0.000 ok 4.09 2.69 1.40 0.000 ok 21
L 3 .=
EMWB |1 13 [AQ05 [FYTRAL—2— yz % 1384 | 779 221 | 558 | 0000 - 399 | 270 | 129 | 0000 ok 22
L/ ®
ERWB [O_14 [(AQ17 [KFAh \m /n\ 1384 70.4 29.6 40.8 0.000 ok 3.75 3.67 0.08 0.000 ok 23
. [ &) &
ERWB [O_15 |BQ_17 [UH AL R EUHER '_ : p. ; 1384 67.2 32.8 344 0.000 *k 3.65 3.33 0.32 0.000 Hok 24
L ] [ ]
ERWB (O_17 |AQ_18 [1EEIREERE \ % 1384 80.6 19.4 61.2 0.000 *k 2.98 2.95 0.03 0.286 n.s 25
[ ] [ ]
ERWB |0_16 |CQ_17 [IEERELERE ‘ ‘ 1384 12.9 87.1 -74.2 0.000 *k 2.45 3.24 -0.79 0.000 Hok 26
EMRWB |1_19 [AQO7 #ff Tz — & é “ 1384 | 75.2 2438 50.4 0.000 *ok 37 3.35 0.36 | 0.000 ok 27
e, ————
——
EAWB 319 [cQ_18 [AyaTa— AUyR—k Gﬁ \@ 1384 83.1 16.9 66.2 0.000 *ox 382 3.29 053 | 0.000 ok 28
TAXI
EMRWB |A_21 [BQ_19 (29> —/49 —nYIE a a 1384 88.1 11.9 76.2 0.000 *x 4.30 2.56 1.74 0.000 *% 29
R -
ERWB [1.20 |BQ.O7 [L>8h— ﬁ a 1384 87.3 127 74.6 0.000 ok 3.78 2.96 0.82 0.000 ok 30
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RigE—% BEKR(RI7E EVV:POAMRRITHEL., KE:QOANRRITZHELY)

i ; } IRFRRE (SA) 1R (R 5ERRESA) .
i RS BRS | 4uq, = - LA
#No | QNo L H5 P Q % za7e AEE FEiy 2a7E AEE

Is) (1S0) 4 ar & ne.:FHE a7z & ns. AT
p Q (P-Q) P *:p<0.05 P Q (P-Q) P *:p<0.05
**x:P<0.01 *%:P<0.01
— —
w A _J
ERWB |A_26 (AQ.21 |FiE8. fFitedE | ‘ l m 1384 88.4 11.6 76.8 0.000 *k 3.96 357 0.39 0.000 *k 31
v .
ERWB [B_27 |BQ.21 g%‘ﬁn/ ABFHRES = 1384 423 57.7 -15.4 0.000 sok 3.26 342 -0.16 | 0.000 *ok 32
ERWB (D28 (cQ.2l LRSSV ? Y‘ 1384 74.8 25.2 496 0.000 ok 3.80 3.79 0.01 0.670 n.s 33
ERWB [1.25 |AQ.09 |¥v> T8 A\ 1384 75.7 243 51.4 0.000 ok 3.97 3.04 0.93 0.000 ok 34
ERWB (129 (BQ_10 [&h Bk @ 1384 76.8 23.2 53.6 0.000 ok 414 2.85 1.29 0.000 ok 35
ERWB [4.30 |CQ_10 |#E#EEMERAZIE ® 1384 78.3 21.7 56.6 0.000 *ok 3.96 2.90 1.06 0.000 Hok 36
EAWB |B_37 |CQ.24 |IzEEIE @ 1384 81.9 18.1 63.8 0.000 K 4.00 3.37 0.63 0.000 *% 37
ERWB 131 |AQ_11 [EEYTE 1384 86.8 132 73.6 0.000 *k 293 275 0.18 0.000 ok 38
ERWB (132 |BQ_11 [{BE:IE /t<\ 1384 85.9 14.1 718 0.000 ok 2.81 2.72 0.09 0.000 ok 39
=3
EAWB |0.39 |Ba.25 |Ktizxs A 1384 | 813 18.7 62.6 0.000 - 2.78 2.37 0.41 0.000 o 40
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i - - IRFEFE (SA) 1R R (& 5EZFESA) .
i RS BRS | 4uq, = - LA
#No | QNo 2 P Q % AEE AEE

(IS) (1S0) 4 RAIAT7E i ne. FHE ROTE & ne. EHE
[=] Q (P-Q) P *:p<0.05 P Q (P-Q) p *:p<0.05
**x:P<0.01 *%:P<0.01
[ ]
EAWB |B.41 |AQ.26 |ERIZHIBLIEEN |n I 1384 84.9 15.1 69.8 0.000 *x 3.77 3.64 0.13 0.000 *% 41
[ ]
EAWB |B_42 (BQ.26 |[GAIIZHIEEES0Y | ﬂl 1384 86.4 13.6 72.8 0.000 *ok 3.78 3.69 0.09 0.000 *ok 42
ERWB [[.43 |CQ.26 [—FIIET) @ ﬁ\ 1384 52.2 478 4.4 0.096 n.s 3.10 2.24 0.86 0.000 *ok 43
(4
ERWB |0_44 |AQ27 |ZFIiET) mq 1384 19.6 80.4 -60.8 0.000 *ok 2.77 2.75 0.02 0.483 n.s 44
f‘ fn [?\
ERWB (A.45 |BQ.27 [=FIH TN m\m{f 1384 15.0 85.0 -70.0 0.000 *ok 2.72 2.80 -0.08 0.006 ok 45
ERWB |0_40 [CQ_25 [&&hNZ 9 'h 1384 50.9 49.1 1.8 0.485 n.s. 2.93 2.87 0.06 0.054 ns 46
EMRWB |0_46 (CQ_27 |KEN 9 9 1384 76.7 233 53.4 0.000 ok 4.58 4.36 0.22 0.000 Aok 47
] NEWS
ERWB (A_47 |AQ_28 |HTiH - s IE @ 1384 75.9 24.1 51.8 0.000 ok 3.24 2.85 0.39 0.000 *ok 48
' o
ERWB |1.34 |AQ_12 |EEB n ﬁ@ 1384 82.4 17.8 64.8 0.000 *k 3.76 3.41 0.35 0.000 *k 49
_— ©
ERWB (048 |BQ.28 |BBA £R dL CL; 1384 78.1 21.9 56.2 0.000 *ok 3.73 3.86 -0.13 0.000 Hok 50
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A& o — IRFEFE (SA) 1R R (& 5EZFESA) .
HE LB BES (oo % - 5 ——
ENo [ QNo A FR P Q - 5EE = AEE

Is) (1S0) 4 A7 ol ne.:FHE A7 ofiE ns. AT
[=] Q (P-Q) *:p<0.05 P Q (P-Q) *:p<0.05
**x:P<0.01 *%:P<0.01
ERWB |A.49 |CcQ.28 |[AE ? ’ 1384 85.4 14.6 70.8 0.000 *ok 3.70 3.64 0.06 0.001 ok 51
AR AR
ERWB |050 [AQ29 [srEir ' @ 1384 | 691 309 | 382 | 0000 ok 318 | 321 | -003 | 0258 ns 52
EAWB |B.52 |CQ_29 |E#NTRUTH f E 1384 84.9 15.1 69.8 0.000 K 3.60 3.40 0.20 0.000 *k 53
SY
ERWB |0.53 [AQ.30 (R&/\—%FoH 5 1384 75.8 24.2 51.6 0.000 ok 3.37 2.33 1.04 0.000 Hok 54
EMAWB |R54 (BQ.30 (RE£/N\—%FIT3 ‘ @ 1384 63.2 36.8 26.4 0.000 *k 3.25 2.38 0.87 0.000 *k 55
L ]
ERWB |A.55 |CQ.30 [RE—D%kELEITS 5-! 1384 458 54.2 -8.4 0.002 ok 3.66 2.87 0.79 0.000 Hok 56
[ 1) @..
ERNWB |£08 |BQO3 |FE=E F‘\ Iﬁ 1384 62.4 37.6 24.8 0.000 K 3.50 2.95 0.55 0.000 *% 57
\ [ @
ERAWB (/409 [CQO03 |[Fryiat—EX <K 1384 60.8 39.2 21.6 0.000 ok 3.66 2.61 1.05 0.000 *k 58
. o .
ERWB |17 [BQ.06 |jA= ‘21 ‘i 1384 69.3 30.7 38.6 0.000 ok 3.84 3.03 0.81 0.000 ok 59
EMRWB |A.33 |BQ.23 [BKiKET—IL 0‘ ./c\ 1384 60.0 40.0 20.0 0.000 o 3.81 3.21 0.60 | 0.000 ok 60
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i - } IRFEFE (SA) 1R R (& 5EZFESA) .
i RS BRS | 4uq, = - LA
#No | QNo L H5 P Q % AEE FEiy AEE

(IS) (1S0) 4 RAIAT7E i ne. FHE ROTE & ne. EHE
[=] Q (P-Q) P *:p<0.05 P Q (P-Q) p *:p<0.05
**x:P<0.01 *%:P<0.01
ERWB |[_38 |AQ_25 |5iEikEE ® @ 1384 18.7 81.3 -62.6 0.000 *x 3.18 3.34 -0.16 0.000 *% 61
ERWB [126 |BQ.09 [[ZFR éSS) .-.S-._S.-. 1384 62.9 37.1 25.8 0.000 *k 4.39 3.07 1.32 0.000 ok 62
ERWB [1.27 |CQ.09 [i&N3s ﬁ g 1384 71.1 28.9 42.2 0.000 *k 3.72 349 0.23 0.000 ok 63
-
EARWB |B.35 |AQ.24 |FEDH/ MNTAHZEIE @ @ 1384 56.1 439 12.2 0.000 *ok 3.58 3.77 -0.19 0.000 *ok 64
ERWB |A.25 |CQ_20 |ZI& ) q—‘-‘ 1384 415 58.5 -17.0 0.000 ok 3.34 3.37 -0.03 0.275 ns 65
ERWB |A_24 |BQ_20 [HF : y 1384 61.1 38.9 22.2 0.000 *ok 4,01 3.85 0.16 0.000 *k 66
ERWB |03 |CQ.O01 |fi&RR w H 1384 45.4 54.6 -9.2 0.001 *k 3.39 452 -1.13 0.000 *k 67
@m
EAWB |3.09 |BQ_15 |a4>Ovh— i |-| 1384 46.0 54.0 -8.0 0.003 Hok 3.77 3.06 0.71 0.000 *ok 68
[ ) g )
ERWB |/ 14 [(BQ.05 |FL%h R A& a .5'1 1384 20.6 79.4 -58.8 0.000 *k 3.61 2.85 0.76 0.000 *k 69
ERWB |15 |cq.os |[#o—% AP = 1384 | 435 | 565 | -130 | 0000 Kok 3.91 325 | 066 | 0000 sk 70
ﬂ -, =
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H: - - IRFRE (SA) A (&5 SA .

ﬂg mie mis o R 1R R (& 5EZFESA) ELA

HNo [ QNo e P Q % BFEE FEiy AEE

(Is) (150) = AIATE| g | neoeEm AATE| | nednm

p Q (P-Q) P *:p<0.05 P Q (P-Q) P *:p<0.05

**x:P<0.01 *%:P<0.01
ERWB [[_18 |BQ_18 |fRZet, 22 + & 1384 37.8 62.2 -24.4 0.000 *ok 4.19 420 -0.01 0.383 n.s Al

\ CAN Ak
EMAWB |123 |BQO8 [FEYiHE : | R k 1384 | 279 721 | -442 | o0.000 ok 3.67 3.26 0.41 0.000 ok 72
o".
ERWB 122 |AQ.08 |EfEiE P Rﬁ 1384 31.9 68.1 -36.2 0.000 *k a4 417 0.24 0.000 Hok 73
ERWB |0_22 [cQ.19 |A—TFHzA ﬁ/ ﬁ 1384 33.2 66.8 -33.6 0.000 *ok 3.90 4.06 -0.16 0.000 *% 74
[ ]
EINWB (€24 |CQ.08 |FHZEFRT Iil il 1384 21.7 78.3 -56.6 0.000 *k 4.08 3.19 0.89 0.000 Hok 75
oo
ERWB |A.30 |BQ.22 /13— i I 1384 3715 62.5 -25.0 0.000 ok 3.64 3.32 0.32 0.000 ok 76
EAWB |B_31 |CQ.22 |[AVIVREVR B i][] 1384 44.9 55.1 -10.2 0.000 K 4.01 3.81 0.20 0.000 *% 77
n . —
EAWB |A_32 (AQ.23 |[BEth, Shkih —I h 1384 26.1 73.9 -47.8 0.000 Hok 3.29 3.86 -0.57 0.000 *k 78
ERWB (133 |CQ_11 |EE%&TE 1384 21.5 72.5 -450 0.000 *k 2.77 2.85 -0.08 | 0.000 Hok 79
- o [
ERWB |1.35 |BQ_12 |FH=ER lil _ 1384 45.0 55.0 -10.0 0.000 *k 3.50 3.32 0.18 0.000 Hok 80
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i - } IR RE (SA) 1R R (& 5EZFESA) .
s BRES BRS | 4uq, = a LA
#No | QNo L H5 P Q % = AEE FEiy = AEE

Is) (1S0) 4 A7 ol ne.:FHE A7 ofiE ns. AT
[=] Q (P-Q) *:p<0.05 P Q (P-Q) *:p<0.05
**x:P<0.01 *%:P<0.01
ERWB [A.51 |BQ.29 [RyMFEIAHEIE ® 1384 34.8 65.2 -30.4 0.000 *k 3.73 3.68 0.05 0.029 * 81
[ ]
ERWB |4.01 |AQ.01 |ZERFF 1 1384 62.1 379 24.2 0.000 *ok 4.36 414 0.22 0.000 *ok 82
[€]
_ Y &
ERWB (008 (AQ_15 |FHY—BTEMNYRRT ﬁ il & 1384 55.5 445 11.0 0.000 ok 3.45 3.20 0.25 0.000 *ok 83
ERWB 116 |AQ.06 [+ — : ‘l 1384 79.6 204 59.2 0.000 ok 4.09 2.63 1.46 0.000 ok 84
EAWB |A_29 [(AQ22 |B%-B& .) -) 1384 59.1 40.9 18.2 0.000 *k 414 407 0.07 0.000 *k 85
' T
[
2 °
EMRWB |0_13 |CQ_16 |REEX _‘E"’L‘ _,.r‘b' 1384 436 56.4 -128 0.000 Kok 3.80 3.85 -0.05 0.034 * 86
- L
ERWB |/4.21 [CQ.07 |B¥zE &) 1384 52.6 47.4 5.2 0.053 n.s. 3.96 3.87 0.09 0.000 *ok 87
ERWB |A.23 |AQ20 [7—7J/LEkiE 9 ﬁ 1384 | 378 622 | -244 [ 0000 ok 3.77 3.49 0.28 | 0.000 ok 88
ERWB |A.20 |AQ_19 [/XR/INRDYIE m m 1384 55.7 443 11.4 0.000 ok 3.92 4,05 -0.13 | 0.000 ok 89
ERWB |1_18 [CQ_06 |#%8.~ #EER Q & 1384 76.0 24.0 52.0 0.000 ok 4.19 352 0.67 0.000 Hok 90
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